Agglomerato di Bologna
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Z= max. max. max. | media | max. | media | max. |somma | max. diff. max. diff. max. diff. media diff. max. diff. media diff. max. diff. | somma | diff.
#NOME’ #NOME? Bologna - Navile é 29 58,9 47,8 0,0 0,0 0,0 0,0 T34 T34 56,9 -2,0 45,5 -2,3 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 TL4 -2,0 L4 -2,0
I b ologna - Navile 55, 3 0,0 0,0 0,0 0,0 69,5 0, 55,2 -0,2 ; -0,2 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 62,2 -7, 62,2 -8,1
#NOME? #NOME? Bolog Navil 4 33 4 43,9 59, 79,3 437 e
#NOME? | #NOME? Bologna - Navile 5 92 70,3 59,5 7.6 bk 7.5 4.3 357 89,2 654 4,9 54,4 5,1 2,7 4,9 15 2,9 2,4 5.1 1,3 3,0 81,1 4,6 84,4 4,8
H#NOME? | #NOME? Bologna - Navile 4 24 758 62,6 11,1 7.7 10,6 7.3 843 957 73,5 -0,3 62,3 0,3 10,8 0,3 7.2 -0,6 10,3 0,3 66 -0,6 84,0 -0,3 95,8 o1
#NOME? | #NOME? Bologna - Navile 51 340 71,9 é1,1 9.2 2,0 9.1 2,0 88,1 4.2 66,2 57 55,3 5.8 55 57 o5 1,5 55 5,8 o5 L5 82,6 55 88,4 58
H#NOME? | #NOME? Bologna - Navile 1 9 55,0 43,5 0,0 0,0 0,0 0,0 1,2 1,2 54,5 -0,5° 43,0 -0,5 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 1,2 0,0 1,2 0,0
4 I ologna - Navile 10 .8 D) 0,0 0,0 0,0 0,0 1,2 1,2 ,6 -0,2 , 1 -0,2 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 1,2 0,0 1,2 0,0
H#NOME? | #NOME? Bolog Navil 7 54 45,5 54 43
#NOME? #NOME? Bologna - Navile 10 61 54,8 43,3 0,0 0,0 0,0 0,0 0,0 0,0 54T -0,1 43,2 -0,1 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
I $ ologna - Navile 812 73, 62,5 17, 2,1 17,1 2,1 ,0 8,7 69,5 -3, 58, 4,1 17, 0,0 1,0 -1,1 17,1 0,0 o, -1,1 0,1 -3, 23,8 -4,
#NOME? #NOME? Bologna - Navil 44 4 5 24 5 59 5 4 4 5 5 » 5 3 49
¢ I ologna - Navile 1o 8,0 37, o, 0,0 0,0 0,0 ©,0 o, 3,6 4, 33,5 -3,8 0,0 0,0 0,0 0,0 0,0 0,0 o, 0,0 0,0 0,0 0,0 0,0
H#NOME? | #NOME? Bolog Navil 4 4 3 2 iof
I I ologna - Navile 21 2 71,0 60,2 38, , 8 8,2 , 6 89, 6,7 Jio 0,0 60,2 0,0 8, 0,0 , 8 -0,1 8,2 0,0 , 6 0,0 89,8 -0,1 6,5 -0,2
H#NOME? |[#NOME? Bolog Navil 429 3 3 5 89,9 9 3 3 3 9 9
#NOME? #NOME? Bologna - Navile 1 210 66,5 55,0 3,8 0,9 3,0 o7 80,8 84,9 66,5 0,0 55,0 0,0 3,8 0,0 0,9 0,0 3,0 0,0 o7 0,0 80,8 0,0 84,9 0,0
H#NOME? | #NOME? Bologna - Navile 4 o 48,9 37,5 0,0 0,0 0,0 o, 0,0 o, 48,7 -0,2 37,3 -0,2 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
H#NOME? |[#NOME? Bologna - Navile 3 o 66,3 54,8 3,6 1,2 2,8 0,9 0,0 0,0 66,3 0,0 54,8 0,0 3,6 0,0 1,2 0,0 2,8 0,0 0,9 0,0 0,0 0,0 0,0 0,0
I I ologna - Navile 7 77 .5 3, 1,8 L7 11, 1,6 83, 83, 57, -1,6 6,6 -1,8 10,2 -1,6 1,5 -0,2 , 6 -1,8 1, -0,3 81,8 -1,6 81,8 -1,6
H#NOME? | #NOME? Bolog Navil 59 48,4 4 4 4 9 4 9 4
H#NOME? #NOME? Bologna - Navile 5 ° 0,0 0,0 0,0 0,0 o, 0,0 o, o, 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 o, 0,0 0,0 0,0 0,0 0,0
#NOME, #NOME? Bologna - Navile 3 3 50,4 41,6 0,0 0,0 0,0 0,0 0,0 0,0 51,8 1,4 42,6 11 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
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